Solution of the day/ September - 18, 2019
6" Class
Mathematics: Ans : (B)
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.'.(x+y)+(x—y)=(%+%j+(%—%}=l+0=1

Physics: Ans: (D)
Chemistry: Ans: (C)
Biology: Ans: (D)

7" Class

Mathematics : Ans : (D)
Duplicate ratio of 5: 6 is 25 : 36

The reciprocal ratio of 25 : 32is 32 : 25

The sub duplicate ratio of 81 : 64 is +/81:/64 =9:8

The compound ratio of 25 : 36, 32: 25and 9: 8 is = (25)(32)(9) : (36)(25)(8) =1:1
Physics: Ans: (A)

Chemistry: Ans: (B)

Biology: Ans: (C)

8" class

Mathematics: Ans: (D)

J13-x10 =/8 ++/5
—13-X/10=8+5+2J40=13+4/10 = -x =4 = x = -4
Physics: Ans: (B)

Chemistry: Ans: (C)
Biology: Ans: (C)
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9™ Class

Mathematics : Ans: (B)

AB = AC = AD = Z/ABC = /ACB = 35°
= /BAC =180°-70°=110°

= /ADC + Z/ACD =110°

110°

S ZACD = =55°

- /BCD = /ACB + Z/ACD = 35°+55°= 9Q°
Physics: Ans : (B)
Chemistry: Ans: (C, D)

Biology: Ans: (A)

10" class

Mathematics: Ans : (B)
sinA+sinA=1

SinA =1-sin® A = sinA =cos® A
cos®A+cos? A =sinA +sin® A=1
Physics: Ans: (D)

Chemistry: Ans: (D)

Biology: Ans: (C)

Reasoning : Ans: (C)



